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K22 AR
Jensen REXZTEH LT RiE

HARERDPLHBLOND B D
FAAEERR (PLIRAL & F )

RPNAMEITIL, BRx RS2 G LeENHE S D, #oRE, RBEEIC
BT, IS - fHsRT), T2 vy oRELD T Sfishtnsg,
L2L, [Jensen O ARER] X, HEVIEH I TRV,

— W35 LRI R 2 A KFEARMEN, [Jensen OARZERX] ZFRIHT2 &, flHICHE
ETED—ARH 5, AENL, [Jensen DARERX] Z{EH LI-fIEEZ £ L DT,

Episodel H A%
B%y = fO)IE. x > 0I2B W T, f(x) > 0&1i7-7,
x> 0,x,>0ICBWVCs+t=1,5s>0,t=>0
f(sxy + txy) < sf(xq) + tf(xy)
Proof
10 >0k 0y = fFOIE, Tzl Tch 5,
A AB 1%, #5r AB £V & FITAHET .1 (1)

t i

A(xl,f(xl)),B(xz,f(xz)) L PN
Q(sxl + tx,, f(sx; + txz)),P(sxl + txy, sf(xy) + tf(xz))
HPIE, M ABZt:sicNGT56RThD, ERELDY
f(sxy +txy) < sf(x1) + tf (x2)
Q.E.D.
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Episode2 HHANYEY) - FHZREE)
p#qpqridEOFEKLTD, ZoLE

+q+r
% > 3/pqr
ZREHIHE X fEMIRF: 2010 41
Proof
f(x) =logx (x>0)&B<,
y=f(x)EDR725 35 P(plogp),Q(q,logq),R(r,logr), APQR OFELG L35 &
p+q+r logp +logq + logr
()
y=f(x) LD

S( 3 g3 )

y = logx

1

f(x) =X

1
frfe)=-—-3<0

y=f)Dr 77, R T,

2+

logp + logq + logr ptq+r
<log——

3 3

1 +q+r
§logpqr < log%

3 ptq+r
Vpar <———

Q.E.D.
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EpiSOde 3 E%‘allaz, ani: %#6141, Az, An@ﬁﬂﬁi'b
T EIn B O AL, Ay, o AgDITFAE L

A 7o ER L T D,

MERNLT 5 & &
KPP EZEH a ay, - aglZBT DA, Ay, - Ay DINEEE L

Episode 3 n/SDELD
?ﬁiilnﬂﬁl@)ﬁﬁl, Az, AnZJVI'?E L.

—

n
0C = ZO_A{

i=1

S|

n'ﬂﬁl@;lﬁ;Al,Az, "'An@E‘I\_J‘

Episode 5 Jensen DA
x> 0IZBWT, f"(x)>0
n=2,x>0x,>0,,x,>0&F 5,
ar+tay++ta,=1a,=20,a,=0.,a, =20 D& X,

flayxy + azx; + -+ apxy) < ayf (1) + aaf (xz) + -+ + anf ()
Proof
nlZ B9 2 BRI IRANEIC K o CREAT 2 D08 — ik TH 5,

n =20
x;>0,x, > 0,0y +a, =1 FHED Episodel hAHERX LD
flayxy + azxz) < arf () + azf (x2)
(B9 AVAC RN

n = kDR
K

Zai =1a;=20 (i=123,,k)
i=1
flaixy + azxy + -+ agxy) < aqf (1) + apf () + - ap f (xx)
WAL 5 ERET D,
n=k+ 10K
ata,++ap+ag =1La; 20,0, 20,03 =0,-,0,=0,0,4 =0

AL
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s=arta,+taut=a,EB<E s+Ht=1,5>0,t=>0

a; o
?l =a,(=12-,k)

k
a;
X = — XY = Xpeyq
AV
i=1
K
X= Z aixg
i=1

(X1+a2+"'+ak:1

ar+a;+ - +a = S
flagxy + azxy + -+ + apxy + Qgp1Xgi1) = f(SX + tY)

<sfX)+tf(Y) =sf (%x1 + %xz + - +%xk) + tf (Xp41)

< S{%f(xl) +%f(xz) Tt %f(xk)} T Gies)

= a1 f(x) + apf(x2) + - apf (x) + appr f (Xpes1)
n=k+ 10OKEL RN T 5,

EEY, $XTOEKEITONT
a+a,++a,=1a, 20,0, =20.--,2, =0 DL X,

flaixg + azxy + -+ apxn) < agf (xg) + apf(x2) + - + anf(x,)

3t

ayf(x1) + arf (x
2 <

flagx; + azx, +H-
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Example 1
EDFEHa, b, plokf LT
A= (a+b)P LB =2P"1(aP + bP)DK/PEIRE T~ L,
HOR LR 1999

[ 251

flx)=xP LB,

f'x) =pxP~L f"(x) = p(p — DxP~2
(i) p>1055E

x>0DKE, f"(x) >0&75DT, f(x) =xPiX, TIZHDT T 7Thb,
X (a,aP),Y(b,bP),P(a,0),Q(b,0) <,

0 PQAIR (42,0). 1 AB Lo (52, (2. oy XY o (42, 222)

2

ALY

06+
04r

02

12

a”+b”><a+b)7‘J
2 2

a+b
2

2P71(a? + bP) > (a + b)?
~B>A

1
>2—p(a+b)p
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(i) p=1D%E4 I Y
10

08
06 -
04

02

00 ) L L L 1 L L L 1 L L L 1 L L L 1 L L L 1 L L L 1
00 02 04 06 08 10 12

A=a+bB=a+b
(iii)0 < p < 1DHFA

') =pp—-1DxP2<0

flx) =xPix, kiZhoro >

00 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 )
0.0 0.2 04 0.6 08 10 12

a?’+b1’<<a+b>7‘J
2 2

2 2P
2P~1(aP + bP) < (a + b)?
~B>A
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Example 2
a,B,ylZa>0,>0y>0,a+pf+y=n Zli/=TbDOET 5,
DL E, sinasinfsinyDixKEEZRD L,
TR 1999 4 1

[ 251
f(x) =log(sinx),(0 < x <m)DZ 7 7|ZOT B+y=m—a>0LV0<a<m
RIERIZ LT

0<p<ml0<y<m f’(x)=§?:§

HOEE

sin?x

f(x) =log(sinx), 0 <x<m)DZ 7 7%, LMD 77 THD,
A(a, log (sina)), B(,B, log (sin,B)), C(y, log (siny)) LB,

AABC OFEL G O yflisriE,

f@+f(B)+f(y) log(sina) + log(sinp) + log(siny) log(sina sinf siny)
3 B 3 B 3

f<w> = f(E) = log (sing) = log?

3 3

30
fla)+fB+fly) " ra+B+vy log(sina sinf siny) V3
3 =/ ( 3 ) 3 =log5
3
log(sina sinp siny) < 3log ? sina sinf siny < <73> = ?

a=f=y=% o8 HEHL
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Example 3
IEDESa,b,c, a+b+c=1%M-LTNDH L&,
aV1+b—-c+bV1+c—a+cV1i+a—-b<1

R,
HABSA Y vy 7 2005 4F
[fig 225 151

fG) =25 (x>0)

LB,
1 2 2 5
fl) =5x3,f"(x) =—2x73<0
3 9
1
f'"x)<0&Y, f(x)=x31%, LMD TT7 7 ThS,
0.2
0.07 I I I I | I I I I | I I I I | I I I I |
0.0 0.5 10 15 20
Jennsen OAREA LY
x;=1+b—-—c=a+b+c+b—c=2b+a>0
x=14c—a=a+b+c+c—a=2c+b>0
x3=1+a-b=a+b+c+a—-b=2a+c>0
e SRR

af (x1) + bf (x3) + cf (x3) < f(ax, + bx, + cx3)
a§/1+b—c+b§/1+c—a+c§/1+a—bsi/a(1+b—c)+b(1+c—a)+c(1+a—b)
aVi+b—c+bVi+c—a+cVi+a-b<Va+hb+c
caVi+b—c+bVi+c—a+cVi+a-b<1
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Example4
am R LT D, o, B () Ex > 10HPHICHNT
) =x"*log(x+ 1) — log(x — 1},
(1) BEESf Qo) HEGRBAD TH DT DadD 2 KD X,

(2) #%
>
n=2
NIEDERKIZFETT D L 9 RaD b2 RD X,
FLIE RS 2012
fi 25 A1)
(1) &%

F)D T 71ZaD ki a
X0, ¥kxler 771205,

CJ

10

(2) f"(x) > 0%7R7,
fx) =x"*log(x+ 1) — log(x — 1)}
xf(x) =log(x +1) —log(x — 1)

FGOx 4 flaxst = -

1 1

f'@)x*+ f'(x)ax®t + f'(x)ax?* 1 + f(x)ala — Dx? 2 = — GTD? + CEEY
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PR+ 27 (axt + f(ala = Dx*? = e

x>172DT,
f(x)x% +2f'(x)ax*t + f(x)ala — 1)x*"2 >0

W% x4 2 THEID &

f"()x?+ 2af'(xX)x+ala—1)f(x) >0

fO)a? + (2f' ()x — f(x))a+ f(x)x? >0

a% FEHIp 0T, HRHIK<O0

(2f"Gx — f())" = 4f (Of " (¥)x2 < 0

(2f'(0x = F(0) < 4FGOf" ()x?
0 <4f(x)f"(x)x?

f(x) =x"%log (1 +ﬁ) >0 72DT,
“f"(x) >0
N
SN = ) () = )+ FB) + -+ FN)
n=2

f"x)>0&Y, f)DZZ 7%, T2 d T, Jensen DRER
f(z +3 4+ N) @G+ f)

N-1 N-1
(N = 1f (HZJFTHV) < S(N) -+ (+)
0 st () ()
N—1

—(N-1) (N_jz)a{log (N2+2 + 1) ~log (%— 1)}
2

2¢(N —1)
D (1+7=9)
N-1
2¢(N —1) 5 5 \ 5
~N+2)° X(N_n“’g(”m)
(i) a> 0D
N-1 N-1
29(N-1) 5 5 \5  5x28 5 \ 5
16‘1?0(N+z)ax(1v_1)109(”m) =16%(N+2)a109(”m) -

(k) K OSNITFEHT D,

> s
n=2

IXIE DR KIZHHE T 5,
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(i) a=0DHK
N-1 N-1
Jeil = li 2'W -1 5 l (1+ > ) = lim5x 1 <1+ > )5 =5
EEME N2 TN Dr) TR Iy ) T

EINRLTLE D,
fx)=loglx+1)—loglx—1)& D

N
SN = ) () = F)+ FB) + -+ FN)
n=2

= log3 + log4 + log5 + -+ log(N + 1) — log2 — log3 — - — log(N + 1)

=—1og2 + logN + log(N + 1)
I\l’im S(N) =+4»

> s
n=2

a= 0D

IR D,
(iii) a < 0D
2¢(N — 1) 5 5 \'5
a — 5
A= Ny 7 X(N_l)“’g(”m)
o et
5
:Al]l_T)’);loZ X5%x (N +2) lOg(1+m) = 0
I\ZI%S(N):-i_OO
>
n=2
IR D,

(i) (ii) (i) X9, ag<0mEx
A

TS D,



